Intefmediate Algebra Review f[or Exam 2

@ 1) Simplify the expression: 3x — 2(x — 5)

Ay -3xx 10
X+10

2) Simplily the expression: %(‘sz + 6x) + 7x

@XQ+L}XT7X
bx?2+1IX

3) Simplify: 4x — [3x + 6(9 — 2x) — 1]
U x -3 x 54 -1ax -1 = 4x- [53-%)
Ll x-5% +Qx
IDx-53
4) Find the sum of @@ —8b) and —__6__b)
Add/ N
| N+ 1o b -4 b
5) Subtract (3x —10) t'r%(7x2+x+15) _7)(2**’ X + |S [ BIVY
S+
. -3x + 10 Chamge

+
oy o2 v as

AT N N
6) Subtract: (= 2+fix+1)—(6}(2—535—{-10)
CAxh i + - b KDESX-10
-1SX*+Qqx -9

D

7) Multiply (m@

X3 x +s x-30
*d=x-30)

TN
8) Multiply (2x + 3)(3x —5)

S bx2-1ox+9 x-S
bx2-x-1S
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9) Divide (251 + 10x? —5x) by 5x X

SX Sx 5x (. )
SX 13 X - |

. x>y (”,_J &;)( -8x %4 Sy
10) Divide: —18x'yie24xdy—ex2y? T \% x"‘y ’LB Xl/
| 8 -2y '5

1) Evaluate 3x3y — 2xy? when x = =2 and y=

3CDE) -Q¢a)(s) | e

12) Given f(x) = %xz + 4, evaluate f(10).

£((o):§(103&+4 = 4y

13) If g(x) = 3+ x|x—6|, find g(=1).
e =3 |1 -)| =-
14) Solve and check: §;10= ;11(5) %O[[;O:,|g
X - o5 () R
e Sy b ao) j0=-1S J
A="3 c1S=-1S v 5
15) Solve and check: 2X=5+4+7x =11~ 3x + 4y v
G x-5 -\ + XA Chack
- X — X gj(__g_rjx:]l——g)ﬁ'q)( . @
8 o :+"5 3(8)-S+7(3) = W-(3) t3)
-le '3 = 1Ay
x’:gél
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;: 16) Solve and check: %?5_—\6(:) _ E/('l\;)m) W
4 10400 FIS S(15-6a) = Z (19811
™ 1 ] ’
)o FAaTs Z( as-b(5>f5'(967%)rla)
17) Solve for rm: 3 —-2m = 5§—5 ‘(%C_l -8-C—) - _8_9
r\ —3n\/4 E i
S T
'kgmssfﬁnw

18) Solve forx: 2x + 6y =18

© by - by
%i‘: 1%-by
B\ el
X = q-By

g\ 19) Solve forH: V = JWH
LW

Yoy
LW

(
20) Solve for alt:%{?;S =c (b)

=cb
S +<
A=Cb+S

21) Salve and graph the solution. Write the solution in interval notation.
S(x—2)=9x-3(2x—4)
=~

= Sx-10Z2Gx -x +13 %57 Jd

ﬁxqoz%ﬂa K> 0
o ~ AV
AX- | 2 18 !
o __4;07 10 G 10l )@ % | =
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22) hp|\ e and graph the solution. Write [he solution in set-builder notation.

5x—2< % — -2 10
5x;1<q 2Ax+b *gﬁ EXlXS%E o

&«SM
a& aongaz

Solve and gre 1]31 the solution. Write the solution set in interval nota
2 5(1+1)>3(1 1)—-8

D,
/

A-5x-5 % 3x-3-3 -3 814 -
-SKk -3 7 B x- |l /H\ T ol a5
P A 558
“3 >@x-\
24) Solve and check: l2'\‘_1|=3 \>x O AL

Desitive” > Meaoehee

i
axﬁi% ~(Qx-1N=D lax-1l=2 lai-llf?)

gxzu xR a3 | a0y 11=3
=3 -3AX =_-2_. ?)7 BV 3 - 3 4
X =2 ixf% =
25) Solve and Check: |3.1'+6|—+6 - C 9
BXEOS’_*‘_\"’* ,ﬁjgofzjf' " |Dxt6l= 6 |3xt6[=t 6
J‘é’f% Bx-pI [ 1bl G [2(ovre] =16
%-'g :%X-’—‘__Q Yo =+ bV b=bv
X ==Y =3
26) Solve and check: 2.\'+|x| =<3 X=0
/\ 'C____._——L S
AXIX=T3 9x-()=2-3 gyl xl=-3 Ixrxl=3
,X-'-:% X=-3 QN H-11=-3  AC3)a]-3)=-3
W =~ -a -1=-3 b +2=-3
-=-3V -2 =-3V
27) Solve and check: ]2a —4l+6a =2
Gorey Tswareein o 0T 0
“2A0 A too=) g&r =13 - o
dot4 =13 YT 13()-U] +6(3) =13

4% 02 Yas \a =@

Scanned by CamScanner



